

# AN ELEGANT 3-BASIS FOR INVERSE SEMIGROUPS

JOÃO ARAÚJO AND MICHAEL KINYON

ABSTRACT. It is well known that in every inverse semigroup the binary operation and the unary operation of inversion satisfy the following three identities:

$$x = (xx')x \quad (xx')(y'y) = (y'y)(xx') \quad (xy)z = x(yz'').$$

The goal of this note is to prove the converse, that is, we prove that an algebra of type  $\langle 2, 1 \rangle$  satisfying these three identities is an inverse semigroup and the unary operation coincides with the usual inversion on such semigroups.

## 1. INTRODUCTION

A unary semigroup is a triple  $(S, \cdot, ')$ , where  $(S, \cdot)$  is a semigroup and  $'$  is a unary operation on  $S$ . We say that a set of  $n$  identities, in the language of a binary operation and a unary operation, is an  $n$ -basis for inverse semigroups, if those identities define the variety of unary inverse semigroups and the unary operation coincides with the natural inversion. This last requirement is needed in order to avoid having several copies of the same semigroup (as an algebra with one binary operation) in the variety defined by those identities.

Denoting by  $x'$  the inverse of an element  $x$  in an inverse semigroup, we then have  $x = (xx')x$  (as inverse semigroups are regular semigroups) and  $(xx')(y'y) = (y'y)(xx')$  (as both  $xx'$  and  $y'y$  are idempotents, and idempotents commute in inverse semigroups). Thus we might be tempted to think that the following identities provide a 3-basis for unary inverse semigroups:

$$x = (xx')x, \quad (xx')(y'y) = (y'y)(xx') \quad \text{and} \quad (xy)z = x(yz). \quad (1.1)$$

However, for  $S = \{0, 1\}$  with  $xy = 0$ , except for  $11 = 1$ , and defining  $x' = 1$ , we have the previous identities satisfied, but  $0' \neq 0'00'$  and hence  $'$  does not coincide with the natural inversion in  $(S, \cdot)$ .

B.M. Schein [3] repaired the *defect* of (1.1) by adjoining two additional identities:  $x'' = x$  and  $(xy)' = y'x'$ . The resulting set of five identities provides indeed a 4-basis for inverse semigroups. (As observed in, for instance, [1], the identity  $(xy)' = y'x'$  is dependent upon the others, and hence can be discarded.) Therefore the natural question to ask would be: *is it possible to find a 3-basis for inverse semigroups?* This question was first answered in the affirmative in [1], but the 3-basis given there requires an extremely complicated proof (it is still an open problem to provide a reasonable proof for that result).

The aim of this note is to repair (1.1) by providing the following easy, transparent and *elegant* 3-basis for inverse semigroups:

$$(\mathbf{E}_1) \quad x = (xx')x, \quad (\mathbf{E}_2) \quad (xx')(y'y) = (y'y)(xx'), \quad (\mathbf{E}_3) \quad (xy)z = x(yz'').$$

## 2. PROOF

In this section we prove that the identities  $(\mathbf{E}_1)$ – $(\mathbf{E}_3)$  imply Schein's 4-basis for inverse semigroups. As the converse is obvious, the equivalence of the two bases will follow.

Throughout this section let  $(S, \cdot, ')$  be an algebra of type  $\langle 2, 1 \rangle$  satisfying  $(\mathbf{E}_1)$ – $(\mathbf{E}_3)$ . We start by proving a few handy identities.

**Lemma 2.1.** *The following identities hold.*

$$x'x'' = x'x \quad (2.1)$$

$$(xy')y = x(y'y) \quad (2.2)$$

$$x = x(x'x) \quad (2.3)$$

$$x'' = (x''x')x = x''(x'x) \quad (2.4)$$

$$x'''x = x'''x'' = x'''x^{(4)} \quad (2.5)$$

*Proof.* Firstly, for (2.1), we have

$$x'x'' \stackrel{(\mathbf{E}_1)}{=} x'[(x''x''')x''] \stackrel{(\mathbf{E}_3)}{=} [x'(x''x''')]x \stackrel{(\mathbf{E}_3)}{=} [(x'x'')x']x \stackrel{(\mathbf{E}_1)}{=} x'x.$$

Next, for (2.2), we compute  $(xy')y \stackrel{(\mathbf{E}_3)}{=} x(y'y'') \stackrel{(2.1)}{=} x(y'y)$ .

Regarding (2.3), we have  $x(x'x) \stackrel{(2.2)}{=} (xx')x \stackrel{(\mathbf{E}_1)}{=} x$ .

Then for (2.4), we compute  $x'' \stackrel{(2.3)}{=} x''(x'''x'') \stackrel{(\mathbf{E}_3)}{=} (x''x''')x \stackrel{(2.1)}{=} (x''x')x \stackrel{(2.2)}{=} x''(x'x)$ .

Finally, for (2.5), we have

$$x'''x \stackrel{(2.3)}{=} [x'''(x''''x''')]x \stackrel{(\mathbf{E}_3)}{=} x'''[(x''''x''')]x''] \stackrel{(2.4)}{=} x'''x'''' \stackrel{(2.1)}{=} x'''x''.$$

□

The next two lemmas are the key tools in the proof that the identities  $(\mathbf{E}_1)$ – $(\mathbf{E}_3)$  imply  $x'' = x$ .

**Lemma 2.2.**  $(x'x)x''' = x'''$ .

*Proof.* We start with two observations. Firstly, as

$$[x(y'''y)]y' \stackrel{(\mathbf{E}_3)}{=} x[(y'''y)y'''] \stackrel{(2.5)}{=} x[(y'''y''''y''')] \stackrel{(\mathbf{E}_1)}{=} xy''',$$

we have

$$(x(y'''y))y' = xy'''. \quad (2.6)$$

Secondly,

$$(x'x)(x'''x) \stackrel{(2.5)}{=} (x'x)(x''''x''''') \stackrel{(\mathbf{E}_2)}{=} (x''''x''''')(x'x) \stackrel{(2.5)}{=} (x''''x''')(x'x) \stackrel{(2.2)}{=} [(x''''x'')x']x \stackrel{(2.4)}{=} x''''x,$$

so that

$$(x'x)(x'''x) = x''''x. \quad (2.7)$$

Now we have all we need to prove the lemma.

$$x''' \stackrel{(2.4)}{=} (x''''x'')x' \stackrel{(2.5)}{=} (x''''x)x' \stackrel{(2.7)}{=} [(x'x)(x''''x)]x' \stackrel{(2.6)}{=} (x'x)x'''.$$

□

**Lemma 2.3.**  $(xy)z' = x(yz')$ .

*Proof.* We start by proving that

$$x''' = x'. \quad (2.8)$$

In fact we have  $xx' \stackrel{(2.3)}{=} [x(x'x)]x' \stackrel{(\mathbf{E}_3)}{=} x[(x'x)x'''] = xx'''$ , using Lemma 2.2 in the last equality. Thus

$$xx''' = xx'. \quad (2.9)$$

Now, by Lemma 2.2,

$$x''' = (x'x)x''' \stackrel{(2.1)}{=} (x'x'')x''' \stackrel{(\mathbf{E}_3)}{=} x'(x''x^{(5)}) \stackrel{(2.9)}{=} x'(x''x''') \stackrel{(\mathbf{E}_3)}{=} (x'x'')x' \stackrel{(\mathbf{E}_1)}{=} x'.$$

Replacing  $z$  by  $z'$  in  $(\mathbf{E}_3)$ , we get

$$(xy)z' = x(yz''') = x(yz'),$$

where the last equality follows from (2.8). The lemma is proved.  $\square$

We have everything we need to prove our main result.

**Theorem 2.4.** *The identities  $(\mathbf{E}_1)$ – $(\mathbf{E}_3)$  imply  $x'' = x$  and the associative law.*

*Proof.* First, we have

$$\begin{aligned} x''x' &\stackrel{(2.4)}{=} [(x''x')x]x' = (x''x')(xx') \stackrel{(\mathbf{E}_2)}{=} (xx')(x''x') \\ &= [(xx')x'']x' = [x(x'x'')]x' = x[(x'x'')]x' \stackrel{(\mathbf{E}_1)}{=} xx', \end{aligned}$$

where we have used Lemma 2.3 in the unlabeled equalities. Thus

$$x''x' = xx'. \quad (2.10)$$

Now  $x'' \stackrel{(2.4)}{=} (x''x')x \stackrel{(2.10)}{=} (xx')x \stackrel{(\mathbf{E}_1)}{=} x$ , as claimed.

Associativity now follows easily:  $(xy)z \stackrel{(\mathbf{E}_1)}{=} x(yz'') = x(yz)$ .  $\square$

### 3. OTHER SETS OF AXIOMS

It is natural to ask how sensitive the axioms  $(\mathbf{E}_1)$ – $(\mathbf{E}_3)$  are to certain modifications, such as shifting the parentheses in  $(\mathbf{E}_1)$  or changing the placement of the double inverse in  $(\mathbf{E}_3)$ .

If, for instance, we leave  $(\mathbf{E}_2)$  intact, replace  $(\mathbf{E}_1)$  with  $x(x'x) = x$  and replace  $(\mathbf{E}_3)$  with  $(x''y)z = x(yz)$ , then we obtain a set of identities which are dual to  $(\mathbf{E}_1)$ – $(\mathbf{E}_3)$ . By an argument dual to that in §2, this set of identities is another 3-basis for inverse semigroups.

Thus to dispense with these sorts of obvious dualities, we will assume that both  $(\mathbf{E}_1)$  and  $(\mathbf{E}_2)$  are left intact, and consider only alternative placement of the double inverse in  $(\mathbf{E}_3)$ . Using PROVER9, we found that each of the following identities can substitute for  $(\mathbf{E}_3)$  to give another 3-basis for inverse semigroups:

$$\begin{array}{ll} (xy)z = x''(yz) & (xy)z = x(y''z) \\ x(yz) = (xy'')z & x(yz) = (xy)z'' \end{array}$$

The remaining possibility,  $x(yz) = (x''y)z$ , does not work. Using MACE4, we found the counterexample given by the following tables. It satisfies  $(\mathbf{E}_1)$ ,  $(\mathbf{E}_2)$  and  $x(yz) = (x''y)z$ , but the binary operation is not associative  $((0 \cdot 0) \cdot 0 = 1 \cdot 0 = 7 \neq 6 = 0 \cdot 1 = 0 \cdot (0 \cdot 0))$ , and the unary operation clearly fails to satisfy  $x'' = x$ .

·	0	1	2	3	4	5	6	7	8	9	10	11
0	1	6	5	7	3	8	4	2	0	4	4	4
1	7	2	6	0	8	4	5	1	3	5	5	5
2	5	8	3	6	1	7	0	4	2	0	0	0
3	8	0	7	4	6	2	1	3	5	1	1	1
4	3	7	1	8	5	6	2	0	4	2	2	2
5	6	4	8	2	7	0	3	5	1	3	3	3
6	0	1	2	3	4	5	6	7	8	6	6	6
7	4	3	0	5	2	1	7	8	6	7	7	7
8	2	5	4	1	0	3	8	6	7	8	8	8
9	0	1	2	3	4	5	6	7	8	9	10	6
10	0	1	2	3	4	5	6	7	8	10	9	6
11	0	1	2	3	4	5	6	7	8	6	6	11
'	0	1	2	3	4	5	6	7	8	9	10	11
	1	2	3	4	5	0	6	8	7	9	10	11

#### 4. PROBLEM

As noted in the Introduction, the identity  $(xy)' = y'x'$  is implied by Schein's 4-basis and hence, by our 3-basis. So we ask

*Does there exist an independent  $n$ -basis for inverse semigroups containing the identity  $(xy)' = y'x'$ ?*

We guess that the answer is no.

*Acknowledgment.* We are pleased to acknowledge the assistance of the automated deduction tool PROVER9 and the finite model builder MACE4, both developed by McCune [2].

The first author was partially supported by FCT and FEDER, Project POCTI-ISFL-1-143 of Centro de Algebra da Universidade de Lisboa, and by FCT and PIDDAC through the project PTDC/MAT/69514/2006.

#### REFERENCES

- [1] J. Araújo and W. McCune, Computer solutions of problems in inverse semigroups, *Comm. Algebra* **38** (2010), 1104–1121.
- [2] W. McCune, PROVER9 and MACE4, version LADR-2009-11A, <http://www.cs.unm.edu/~mccune/prover9/>
- [3] B. Schein, On the theory of inverse semigroups and generalized groups, *Amer. Math. Soc. Transl.* (2) **113** (1979), 89–122.

(Araújo) CENTRO DE ÁLGEBRA, UNIVERSIDADE DE LISBOA, 1649-003 LISBOA, PORTUGAL  
*E-mail address:* jaraujo@ptmat.fc.ul.pt

(Kinyon) DEPARTMENT OF MATHEMATICS, UNIVERSITY OF DENVER, 2360 S GAYLORD ST, DENVER, COLORADO 80208 USA  
*E-mail address:* mkinyon@math.du.edu